T-Slot Kit PG30

7

This kit is ideal for learning all of the different ways to assemble T-Slot
and to test out what might work for your project. This kit includes bolts and
washers, which are needed by most of the brackets and connectors in order to
join the profiles together. This kit even contains a drill bit and a tapping
bit, which are needed when using the screw connectors.

Comes Packaged with


https://testview.co.il/shop/mechanical/t-slot-mechanical/t-slot-kit-pg30/

o 1x

* 4X

o 4X

e 1x

o 2X

* 4x

e 8x

Y
) Y

Plastic Organizing Case

TSL4002 — PG30 Profile 30x30 (15cm lengths)
TSL4002 — PG30 Profile 30x30 (25cm lengths)
TSL4003 — PG30 Profile 30x60 (25cm length)
TSL4100 — Anchor Connector PG30

TSL4103 — Bracket PG30 30x30

TSL4111

Inner Bracket PG30-A



https://testview.co.il/product/tsl4002_0
https://testview.co.il/product/tsl4002_0
https://testview.co.il/product/tsl4003_0
https://testview.co.il/product/tsl4100_0
https://testview.co.il/product/tsl4103_0
https://testview.co.il/product/tsl4111_0

8x TSL4112 — Inner Bracket PG30-B

2x TSL4120 — Butt Connector PG30

1x TSL4122 — Cubic Connector PG30

10x TSL4202 — Pre-set Nut PG30 M5

10x TSL4203 — Pre-set Nut PG30 M6

10x TSL4209 — T-Nut PG30 M5

10x TSL4210 — T-Nut PG30 M6

10x TSL4222 — Screw Connector PG30

6x TSL4302 — End Cap PG30 3030

2x TSL4303 — End Cap PG30 3060

8x TSL4307 — Grey Plastic Cover PG30

4x TSL4312 — Panel Insert PG30

10x 1emm Washer

10x M5 Bolt (20mm)

10x M5 Bolt (18mm)

10x M5 Bolt (16mm)

10x M5 Bolt (14mm)

10x M5 Bolt (12mm)

10x M5 Bolt (10mm)


https://testview.co.il/product/tsl4112_0
https://testview.co.il/product/tsl4120_0
https://testview.co.il/product/tsl4122_0
https://testview.co.il/product/tsl4202_0
https://testview.co.il/product/tsl4203_0
https://testview.co.il/product/tsl4209_0
https://testview.co.il/product/tsl4210_0
https://testview.co.il/product/tsl4222_0
https://testview.co.il/product/tsl4302_0
https://testview.co.il/product/tsl4303_0
https://testview.co.il/product/tsl4307_0
https://testview.co.il/product/tsl4312_0

e 10x M6 Bolt (20mm)

e 10x M6 Bolt (18mm)

e 10x M6 Bolt (16mm)

e 10x M6 Bolt (14mm)

e 10x M6 Bolt (12mm)

e 10x M6 Bolt (10mm)

e Ix Drill Bit

e 1x Tapping Bit

Note: Quantities for bolts and washers may vary slightly.



